)state hypothesis
-nui{He)-WWypothesis 6 no disference
fesearch hypothesis (Ha)
2jcaicuiate probability Ok Qetting sample mean
3)decide wnether to
-reject Ho (pe.0S)
‘retain Ho Lp>.05)
Ymaxe general conclusion

-States that cthere iS NO ditferénce btwn our statistic and What We would find by chance
-CaN compare sample to population le.g. Ho- M, =)
-can compare +wo Sampies (€0, Ho-m. =M 2)

-Why vse nuil
"cannot prove something o be true but ¢an prove Something to be faise Ltneoretical)
-by starting W! null, wWe can put todether sampling distribution

-it aata are very different from expected —>reject Ho
-if data 13n't different —>fal tp reject NUIL hypothesis (retain)
~Why do We say “£ail to reject?
-hypothesis doesn't prove ahything
-f3ilure to reject could be due to a'variety Oy factors
- When retlining nUILYoU aren't 3ctUally SIUIng twogroups are equal

- we set 3 imit dn What valves or sufRciently uniikely
- this valve is ysually .05 (pec.0S)
L Wwhen pL.05, We have 3 1eSS than S7- chance that the difference we see is
Sampling error
-When p Value isless than .05 -sufficientiy Lnlikely and we reject the nui)
-We Want a p valve Iess than 0%
- nalicates tnat didkrence iS large and meaningful
-When p value is greater ¢han -05-likewy retain the null hypothesis
-indiCates direrence iS small/due td sampling error

- type one error: rejecting NULl when it IS true
‘finding an e@ect When there isn't one
-type two error: failing 1o reject nuitwhen NULI is faise
‘not finding 3N eékect that 1S there
reslity

decision __Ho truelno diff)  Ho faise Ldiff )
jeck
\53y |type one error | correctlvower)
dits p=o p=I-B
:*e:am
c
Lsay 1o correct tyve two errov
disg) | P=l-a p=8

-one tailed (directional) test: decide that scores are in the top 57-lor bottom S/ are
very unlikely - greater than/less than symool)

- two -tailed (undirectional test):decide that Scores at €ither extverme are unikely
-decide which +est before testing



EXAMPLE -

IB=.100
Ha: M2I100 (1 think Sample {s better than pop.) Ha:M)aoo (\ think Sampie
s \ess
critical fegion (57-
_/.-kf' ga AR ) g‘f‘g;?na‘ ﬁ)
M { 9. s =
M.\00 (a=.08) AALZ100
HA: AMALZI100
*3 priovi

2.57  m=l00 57

| believe tnat our stats class is smarter 4ndBn averaqe.class has mean 1Q Os
\Db. IS QUY ¢\asS riY intelligent?

1) HO: AA=\0D
*OUT c\ass i§ NO different than the rest Qs pop N IO, scores
Ha: AL >I00
*our class Will score hignher

M =100

o =\S Zobe S M-M

NZ29 Om

MZI0b a5y =106-100 Om=CAWH

3 =15 lv3g

?) 2. =

( =+2.00

AA
10 1L ,P=.0228
3 ‘D 23*2.°° - . o . * *
P=23 /. due to thance! —reject Ho —crass js intelligent
e ——

-power:prob. &s rejecting false nui
-3bility to detect ditferenceif one exists

-factors Oy eqfece:
-true digs, btwn pop means: increasey in difE=increases in power
‘N:Increasyes in sample sige=increases in poer
‘CmiStanadard ervov):increase in variance >decredses in power
-a-iNncreayes in .= iNncred $Ls in power
-ONe ¢3il 45t increases pPower

-determing POWRY O Priori



